AFf6ETH1H IREE

. A H s A H
A T | ok 5 7 I TE | ok 7 A

FR AR —TH 3,075 6,223 2,905 3,318 ) T — 1T H 815 1,637 802 835
FRART  —TH 760 1,602 768 834 S T —TH 579 1,355 667 688
FRART  =TH 1,235 2,664 1,311 1,353 S5 T —=T1H 757 1,614 824 790
FOiRART PUTH 2,082 3,214 1,398 1,816 k% /B % 3k 2,151 4,606 2,293 2,313
%k JNEF k% 7,152 13,703 6,382 7,321 b=l — 1 H 1,260 2,476 1,197 1,279
o IR —1H 1,141 2,021 969 1,052 =il —TH 1,244 2,280 1,119 1,161
o AR —TH 976 1,910 975 935 ZEonlicl —=TH 1,385 2,728 1,336 1,392
o IR —=TH 1,501 2,878 1,423 1,455 =il L E! 826 1,890 938 952
o AR W1 H 713 1,519 739 780 * % /NEF % % 4,715 9,374 4,590 4,784
o AR HTH 1,994 3,888 1,916 1,972 L=ORES — 1 H 992 1,940 930 1,010
* %k /B k% 6,325 12,216 6,022 6,194 E=IREe —TH 1,022 2,161 1,025 1,136
VG iR —T1H 787 1,068 543 525 E=IREe =TH 1,770 2,964 1,380 1,584
VG iR —TH 15 28 16 12 =k uTH 1,133 1,759 855 904
%k B k% 802 1,096 559 537 % % /NEF % % 4,917 8,824 4,190 4,634
TR — 1 H 756 1,210 558 652 BT — 1 H 1,021 1,995 992 1,003
TR —_TH 778 1,436 680 756 BT —TH 703 1,630 811 819
TR —TH 540 839 406 433 ) —TH 1,214 2,589 1,252 1,337
sk /NEF O kok 2,074 3,485 1,644 1,841 ) U1 H 943 2,013 1,013 1,000
RN R — 1 H 2,120 3,266 1,489 1,777 %k /NEf * sk 3,881 8,227 4,068 4,159
HUFIIR —TH 889 1,431 648 783 [gEsgll —T1H 915 1,827 874 953
HUFIIR =TH 959 1,645 778 867 PEE)1| —TH 737 1,630 770 860
HUFIIR T H 428 610 302 308 PEE)1| —=TH 377 802 370 432
%k /hEF k% 4,396 6,952 3,217 3,735 PHEF)I T H 1,401 2,843 1,431 1,412
Ll — 1 H 567 1,042 535 507 %%k /NE * % 3,430 7,102 3,445 3,657
Eﬁ £$ E 11?2 ;222 12;2 1;;2 k ok fkARhxk | 43257 | 82,153 | 39,708 | 42,445
Y5 T H 646 1,247 622 625

sk /B kk 3,414 6,568 3,298 3,270




